2025 £ ENBEZ B D EK B E

35 XI5 R R
11458H15H(H) PRI EE

Court1l ~ Court 8

14:00 (EIABFE[1]|BASEFET[2]| EABFET3]| BABFET[4]|BABFET[5]| B AL FET[1]| 10052 E4T([1]| 1905%3FT3([1]

14:15 | 1905%3#73[2] | 1905%3#73[3] | 2005%3%] 3[1] | EARSE 1] BARSET[2]| BARES E4T[3]| EANRSET [4]| B RS E[5]

14:30 |ENESET[6]| BARSET (7] EABFELT6][1EABFEFT[7]|BABFEIT8]| BASFET]| BASFET(10]| BALFEFT[2]

14:45 100584 £47[2]| 1005wR & E4T[1]| 1905%3%T3[4] | 1905%3FT3([5] | 1905%3#73[6] | 2005%3313[2] | 2007%3F]3[3] | E AR SEFT[8]

15:00 [BAREET 9] BAREET10]| BARSET 11| BARSET12]| BARSET13]| BARSET[14]| BABFET(1L]| BABFE[12]

15:15 (BASFET[13]| B A ST ET[14]| BABFEBH[15]| 8 A% FEFT[3][ 1005 BEL4T(3]| 1905%33T3[7] | 1905%3%T3[8] | 1905%3FT3[9]

15:30 | 200%%3$T3[4] | BAREETL5] | BAREET[16]| BARSETL7]| BARSETL8]| BARSET19]| B ARSET20]| BARSET[21)

15:45 |BASFET[1]|BABFET 2] EABFETB][EABSFET4]| BASFEIT[5]| 1905%3+T3[10]| 1907%3#T3[11] | EA B FET[16]

16:00 | 2005%3%T3[5] | 2005%3¥13[6] | A ZFEST[1]| BAZ FET[2][ BAZ FEIT[3]| BAZFET[4]| BARSET[22]| BARSET[23]

16:15 [BEAESET[24]( BA BT [6]| BABFET (7] BA BT LT (8] BA B FE4T[9]| BABTET[10]| BABFEIT[17]| BABFEIT[18]

16:30 (190%%3#T3[12]| 2005%3#T3[7] | BAZFEFT[5]| BA L FET 6] BAZLFET[7]|BAZFET[8]| 2205%3F]3[1] | 2205%3FT3(2]

16:45 [EARSE[25]| BARSET[26]| BASFET[11]| B ASFET[12]| B ASBFET[13]| BASBFET[14]| B ASBFEIT[15]| BABFET[19]

17:00 | B AL FEST[9]| AL FET[10]| BALZ FEFT[11] | BAZFET[12]| 2205%3FT3[3] | 2205%3FT3[4]

17:15 [EARSET[27]| BASFET[16]

17:30 | MAZFE$T[13] | AL FE$T[14]| 2205%3FT3[5] | 22075%3F7T3[6]

17:45 |EASFET[17]| BASFET[18]

18:00 [EAZFE[15]

18:15 |EASFE[19]

11458H16H(7X) MBS E

Courtl ~ Court 8

08:30 |BF—mER[L]| BF—mMER2]| BF—KERE[3]| BF—REEM4] | ZF—REE1]

09:15 | 80m%E5E[1] | 1005%EAE[1] | 1205%E32[1] | 1305EEEE[1] | 1405%E5E([1]

10:00 | BF—mEER[5]| 5F—MEE2[6]| S5F—MEIL[7]| 5F—AEER([8] | X +—MERR[2]| X F—MREER[3]

1040 Pl = & @

11:00 | 80mzE#2[2] | 100m%EA2[2] | 100mzEA2[3] | 120mxERR[2] | 130 ERS[2] | 1305% & E2[3]

11:45 |BSF—REEO]| BF—AEER10]| BF—AEER11]| BF—REE[12]| L F—REEA4]

12:30 | 80mEEAE[3] | 100mEA2[4] | 120mER2[3] | 130mEEAE[4]

13:00 |BF—mREEE[13]| BF—REE14]| L F—HREEL[5] | &« F—AREEL[6]

13:30 | 100 58[5] | 100m%E52[6] | 130mzEAZ[5] | 130m%EA2(6]

14:00 |BF—mE[15]| ZF—mEE2[7]

14:30 | 1005 58[7] | 1305z 52[7]




